
Test   Sections 8.1 – 8.3    A.P. Calculus    Mr. Pleacher  Name _____________________ 
 
I. Multiple Choice 
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A)   ln 100

B)   100
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A)   ln 1

B)   1

C)   

D)   ln 1

E)   None of the above
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__________  5.  ln( )x dx∫  = 
 
     A)  ( )2

C+½ ln x       

                           B)  lnx x d+ ∫ x        

                           C)  lnx x d− ∫ x  

                           D)  ln x dx− ∫         

                           E)  ln x dx+ ∫  
 
 
__________  6.  3sin x dx=∫  

A)   
4sin
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x C+            

B)  3cos x C− +            
C)  31

3cos cosx x C− + +         
D)  31

3cos( ) cosx x C− − +            
   E)  31

3cos( ) cosx x C+ +  
 
 
 
 
 
 
 
 
 
 
 



II.  Free Response 
 
Determine the value of the following integrals: 
 
7.  2secx x dx∫  = 
 
 
8.  2 2xx e dx∫  = 
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12.   = sinxe x d∫ x
 
13.  csc(3 )x dx∫  = 
 
14.  ( ) ( )4 2sec tanx x dx∫  =  
 
15.  cos sinx x dx∫   = 
 
16.  ( ) ( )2 2 2 2tan secx x x∫ dx  = 
 
17.  ( )2cot 3x x dx∫  = 
 
18.  4 2 x dx+∫  = 
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